Monday, May 11™ 2020

Which is nearer to 51,000: 49,000 or 53,200?

Find the perimeter of a rectangle 7m by 8m?

1. 3/10+3/5=

2. Find the whole number if 2/6 is 42.

3. 3x(b+6)=

4. 558 +22.45+=

5. If the radius is 5cm, what is the diameter?
6. 2.2kg = g

7.

8.

9.

Find the area of the same rectangle

10. How much would 1kg of sugar cost if 2509 costs €1.10?

11. Emily cycled 12.55km in one day and 9.304km on the second

day. How far did she cycle in the two days?

12. Find the average of these numbers: 23, 67, 44, 51

Tuesday, May 12 2020

8+(6x4)=

Find the average of these numbers 7, 11, 4, 3

334+ 23=

What time is it 25 minutes before quarter to 6?

3,000 + 450 + 33 =

oo plw N

Write the prime numbers between O and 10. ,
and

——

7.

Find 0.4 of 240

8.

Increase 500 by 50%

9.

Decrease 240 by 20%

10. Write 2% as a fraction and a decimal.

11. One pencil is 47mm long. A second pencil is 5cm long. How

long are the two pencils in centimetres?

12. Colm is 12.067kg, Helen is 6.345kg and Joan is 8.223kg.

What is the total combined weight of the three children?




Wednesday, May 13™ 2020

(10 x 12) - (11 x 9) =

-24/6 =

Which number is composite: 7, 5, 11 or 6?

1.35x 2=

35% of 100 =

€44.65x 3 =

The radius of a circle is 5.5cm. Find the diameter

Write 4 1/5 as an improper fraction
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. 6.5kg = g

10 9/10 of 630 =

11.

868 chocolates are divided into boxes of 31. How many
boxes are needed to hold the chocolates?

12.

The product of two numbers is 756. If one of the
numbers is 27, what is the second humber?

Thursday, May 14™ 2020

(15x3)+___ =88

The factors of 16 are , and

5 jumpers cost €203.75. How much does 1 jumper cost?

71-(6x8)=

SIS N

Which would you use to measure the length of a room:
m cm km

o

Find the perimeter of a hexagon of side 4.5cm

N

One apple pie weighs 850g. How much would ten apple pies
weigh?

8.

2/3 x8-=

9.

01=__ %

10. Four children shared a 2 litre bottle of water. They each

drank an equal amount. How much did they each drink?

11.

A coat was decreased by 25% in a sale. If the sale price is
€240, how much was the coat before the sale?

12

.How much would it cost to fence a garden 10m long and 9m

wide, if fencing costs €22 per square metre?




Friday, May 15™ 2020

1. Complete the sequence: 4.0, 3.7, 3.4, , ,

N

What is the value of the underlined digit 164.547

w

Put these fractions in order of size starting with the
smallest: 3 ,5/8, 7, 1, 3/8

Find the perimeter of a triangle of side 7.5cm

451-227 =

6/8-%=

2 <10/12 True or False

Which 2D shape has 8 sides?

O | N0y oA

. 9.06 x10 =

10. Find the missing angle in a triangle if one is 55degrees
and another 65degrees.

11. Write 22/7 as a mixed number

12. Find 55% of 500.

13.45.6 +22.2 =

14. A cinema which has 420 seats is 60% full. How many
vacant seats are in the cinema?

15.Put in order of size starting with the largest: 0.2, 0.45,
1.2,0.1,0.85

16. A packet of sweets costs €1.45. How much change would T
get from €10 if I buy 4 packets of sweets?

17.If a car travels 9km in 10 minutes, how far will it travel in
1 hour?

18. A farmer had 40 cows. He sold 0.25 of them. How many
did he sell?

19. 1/8 of Tina's money is €16.25. How much money has she
altogether?

20. Liam ran 1.8km. James ran twice that. How far did the
two boys run altogether?




